
 25

www.napoleongrills.com

CZ

N415-0252E JUN.11/14

VAROVÁNÍ!

Spalování uhlí vydává oxid 

NK22CK-C

VAROVÁNÍ

XXXXXX000000

Napoleon Group of Companies
214 Bayview Dr., Barrie, Ontario, Canada L4N 4Y8 

Phone: 1-705-726-4278 Fax: (705)725-2564
www.napoleongrills.com 

Customer service: 1-866-820-8686 or wecare@napoleonproducts.com



26  

www.napoleongrills.com

CZ

 plus5

plus5 

tohoto produktu.

naleznete na www.napoleongrily.cz .



 27

www.napoleongrills.com

CZ

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

VAROVÁNÍ!



28  

www.napoleongrills.com

CZ

POZOR!
POZOR!

POZOR!
POZOR!

minut).

50

25 pro stranu



 29

www.napoleongrills.com

CZ

-

POZOR!
• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

CHARCOAL STARTER



30  

www.napoleongrills.com

CZ

Steak 6-8 min.– 
Medium

6-8 min.– 
Medium

na stranu.

18-20 minut.

20-25 min.

10-15 min.

1.5-2 hrs.

25-30 min.

4-6 min.



 31

www.napoleongrills.com

CZ

 

VAROVÁNÍ!

• 

• 

• 

• 



32  

www.napoleongrills.com

CZ

VAROVÁNÍ!

VAROVÁNÍ!
VAROVÁNÍ!
VAROVÁNÍ!

do sucha.

VAROVÁNÍ!



 33

www.napoleongrills.com

CZ

 
Nedostatek 
vzduchu.
 

 

 

teplota 
 

popela /vybudovat  



34  

www.napoleongrills.com

CZ

• 

• 

• 

• 

• 

• 
metoda).

• 

• 

pokud je v provozu.

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 

• 



 35

www.napoleongrills.com

CZ

MODEL:  

DATUM NÁKUPU: 

:  

www.napoleongrily.cz

4. Doklad o koupi (fotokopie faktury).

trouby).



36  

www.napoleongrills.com

CZ



38  

www.napoleongrills.com

POZOR!

1. 

2. 

3. 

.

5. 

6. 



 39

www.napoleongrills.com

2 x N735-00012 X N430-0002



40  

www.napoleongrills.com



 41

www.napoleongrills.com



42  

www.napoleongrills.com



 43

www.napoleongrills.com

Fold tabs to lock in place.

2 x N450-0043



44  

www.napoleongrills.com



 45

www.napoleongrills.com



46  

www.napoleongrills.com



 47

www.napoleongrills.com

Ensure slot in the base engages the clip in the air vent as illustrated.

Remove



48  

www.napoleongrills.com

Align



 49

www.napoleongrills.com



50  

www.napoleongrills.com



 51

www.napoleongrills.com

Ensure ash/drip pan engages in base as illustrated.

Ensure slot in drip pan engages clip in base as illustrated.



52  

www.napoleongrills.com

Part #

1 N325-0073 lid handle x

2 N655-0141 x

3 N655-0142 support lid handle right x

4 screw 10-24 x 35mm stn stl pan head x

5 N685-0011 temperature gauge x

6 logo spring clips x

7 N335-0057K lid x

8 N080-0270 hinge lower x

9 N080-0271 hinge upper x

10 N570-0098 screw, hinge x

11 N655-0143 x

12 N570-0042 x

13 N735-0010 lockwasher x

14 N305-0080-BK2FL cooking grid main x

15 N305-0081-BK2FL cooking grid side x

16 N325-0076 handle cooking grid x

17 N570-0093 screw M4 x 8mm x

18 N500-0043 x

19 N305-0077 charcoal grate x

20 N010-0674K base x

21 N010-0692 middle ring assembly base  x

22 N570-0097 M3 screw x

23 N450-0032 nut M4 x

24 N590-0207 basket charcoal x

25 N010-0734 air support inner x

26 N010-0735 air support outer x

27 N215-0010 x

28 drip pan - ash collector x

29 N655-0132 support ash pan handle x

30 N325-0071 ash pan handle x

31 N570-0082 x

32 N735-0003 x

33 N325-0070 wire handle x

34 N450-0036 nut M5 x

35 N010-0691P x

36 caster x

37 N010-0689P post assembly x

38 N655-0138P x

39 N475-0288 front cart panel x

40 N570-0080 x

41 N500-0046P base retainer plate x

42 x

43 N450-0027 x

44 N735-0001 insulated washer x

45 N010-0690 shelf assembly front cart x

46 N160-0021 wire clip shelf assembly x

47 N080-0279 bracket wire support shelf x

48 N325-0075 handle cart assembly x

49 N555-0037 pivot rod shelf x

50 washer x

51 screw M4 x 10mm x

52 N655-0155 x



 53

www.napoleongrills.com

Part #

53 N015-0006 axle x

54 N745-0007 wheel x

55 N450-0043 axle cap x

56 screw 10-24 x 35 mm x

57 N105-0016 bushing wheel x

55110 tool hook bracket x

63911 vinyl cover x

68911 vinyl cover - CE x

x - standard



54  

www.napoleongrills.com

5 76

3

2

1

4
11

12

13

9

10

8

52

17

50

13

23

15

14

17

50

23

15

16

51
24

18

19

20

34

26

22

28 31 32 29 30

27
25

22

24

36

35

40

39

48

43 42 43 41

4540 38 44 49

46

37

47

40

53 54 55

2156

33

57



 55

www.napoleongrills.com



N415-0252E


